9)
10)
11)
12)

13)
14)
15)

16)

17)

18)
19)

20)

1/7-7H=140-1/7
H=20

7(20) = 140
140 = 140

116 - 16W =48 - 1/16
W=3.

16(3) = 48
48 =48 -

13,21_13,5 _65

475 4721 84

7 x 2,000 = 14,000 Ibs.”

= = 41000 _ 41
9,000 =+ 2,000 _42000 42 tons

2000 _ 2000 _ 1,000 Ibs.,

2

1
2)(

1
2E><l><\§-=gacre‘
¥ "3"% 8

5/2 x 4/1 = 20/2 = 10 qts:
35,53 ,1.7_43
4 "7 5Ty
33

1)
2)
3)

4)

5)

7)
8)
9)
10)
11)
12)

13)

14)
15)

16)
17)
18)

19)

1 20)

SR
Brpd-goed
1/6 - 6K=54-1/6

K=9

6(9) = 54

54 =54

1/25 - 25X = 450 - 1/25
X=18

25(18) = 450

16,5 _16,83_16 1
9 338 5 15 15
7.1_7+1

4 x 2,000 = 8,000 Ibs.
7+2=3 1/2qts.

26A

1)
2)

3)

4)

5)

done
done

4B+8=28
—8=-18

4B =20

1/4-4B = 20-1/4

B=5

4(5)+8=28
20+ 8=28
28=28
2Y-11= 7
+11 +11
2Y = 18
1/2-2Y=18-1/2
Y=9
209)-11=7
18-11=7
7=7
5C+8=18

=8 =8
5C =10
1/5-5C=10-1/5
C=2
52)+8=18
10+8=18
18=18

9)

10)

11)

12)

13)

14)

52-2=38

+2 +2
52 =40
1/5:5Z2=40-1/5
Z=8

5(8)-2=38
40-2 =38
38 =38

3D+9=21

-9 -9
3D =12
13:-D=12-1/3
D=4

3(4) +9 =21
12+9=21
21 =21

7A-7=42
+7 +7
7A =49
1/7 - 7A =49 -1/7
A=7

7(7)-7 =42
49-7 =42
42 = 42

V92 - 3Gg suonnjos




268
1)

6)

5B+3=18
=3==3

5B =15

1/5-5B=15-1/5

B=3

5(3) +3=18
15+3=18
18=18 .

12T-1=35
+1 H
12T =36
112 -12T =36 1/12
T=3 ~
12(3)-1=35
36-1=35
35=35r

4C+7=231

=1 =f
4C =24
1/4-4C =24 -1/4
C=6 -

4(6) +7 =31
24+7=31
31=31 -

6S-13=11
+13 +13

65 =24

1/6 - 65 =24-1/6

8= 4

»

8)

9)

10)

12)

13)

14)

6(4)- 13 =11
24-13=11
11=11

10D +11 = 91

-1 1
10D =80
1/10-10D =80 - 1/10
D=8\
10(8) + 11 =91
80+11=91
91=91
7W-13=22

+13 +13
7W = 35
1/7 - 7W =35 - 1/7
W=5 _

7(5)- 18 = 22
35-13=22
22=22

BE+17=20
=17 A7
3E = 3
1/3-3E=3-1/3
E=1 -
3(1)+17=20
3+17=20
20=20

26C
1)

3)

4)

6)

5F +13=38
=13 -13

5F =25

1/5 - 5F = 25 - 1/5

F=5

5(5) + 13 = 38

25+13=38

38=38

8V-14=26
+14 114
8V =40
1/8 -8V =40-1/8
V=5

8(5) - 14 = 26
40-14 =26
26=26

7G +21=56
=21 21
7G =35
1/7-7G=35-1/7
G=5
7(5) +21 =56
35+21=56
56 = 56
5W-12=53
+12 +12
5W =65
1/5-5W=65-1/5
W=13

8) 5(13)-12=53
65-12 =53
53 = 53

9) 6H+7=25
=7
6H =18
1/6-6H=18-1/6
H=3

10) 6(3)+7=25
18+7=25
25=25

11) 11X-16=72
+16 +16
11X =88
111 -11X =88 1/11
X=8
12) 11(8) -16 =72
88-16=72
72=72
13) 2J+17=37
=17 17
2J =20
1/2-24=20-1/2
J=10
14) 2(10)+17 =37
20+17=37
37=37

26D
1)

2)

3)

7)
8)

9)

10)

11)
12)
13)

14)

15)
16)
17)
18)

6Y-12=12

6Y =24
1/6-6=24-1/6
Y=4

6(4) - 12 =12
24-12=12
12=12.

4K +6=46
4K = 40
1/4-K=40-1/4
K=10_

4(10) +6 = 46
40 +6=46

2 x 5,280 = 10,560 ft.

7 x 5,280 = 36,960 ft.

1/2 x 5,280 = 2,640 ft.
2420189 _ o35
2><4 8 —2383q.ft.
no

8D=120;D =15
12x12=144

5

d9oc - g9c¢ suonnjos
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26F 27A /
3Z=33 ' | 7A=21 1) done
1/3-32=33-1/3 ' }\/ZéA =21-177
Z=11 _ ‘ , 2) 22(32)-22,9 _198 _5g2 o
2) 3(11)-13=20 2) 7(3)+8=29 7 771 7 7
33-13=20 : - 21+8=29
' 29 =29
20=20 - 63
22 _22 24 1386 _ i
3) 8L+7=55 3) 9M-9=54 3) 7(212) X - 1,386 sq. in.
8L = 48 9M =63
1/8-8L =48 1/8 '1\/{9_‘79'\" =63-1/9
L=6 . - 4) %(62)=2—72-><3—16=ﬁ;3=113% sq. .
4) 8(6)+7=55 4) 9(7)-9=54
. 48+7=55 22‘95:54
55 = 55 ' mam
. 22 (,2) _22 16 _ 352 5
5) £2(4°) =g %2232 _50% d
5) 112—2 .lx_5_=.5_.5_‘ 5) %ng%:%:‘]% ) 7( ) 7X1 =z 7qus
7 "R712 84
5.2 7 35 _,3 6 Sx2Zxd-2
6) SXSXN—8”48 ‘ X668 6 \ 6) done
6 5 1_5.1%15 -1
1.8 .1.18.86.41 7) TeeooERels okl 2,22 3_132 6
7) 3.18 »SXS 5 15f 8 12 28 1 52 2 7) TX—7-XT=—7—=18?ﬂ
8 E_._g_ﬁ g__3_2___3§ 8) 1_2.+§—6-=B.x_2§.=§-=1_2.
) 3273 %37%9 ~ 39, 5 25 X 73633 '3 3
' 9) 3/4-1/4=2/4=1/2 8) 2xZxA_132_13 in
9) 9/15>5/15 S 1% 717
10) 16/32 = 16/32, 10 .2 _3
1) 7/21 < 12/21 10 10 10 6 ZxZZ8.284_ g5 ¢
12) 5x 5,280 = 26,400 ft. : 24 5 _19 17771 7 7
LU 30 30 30
13) 22280 _ 3520 _ 3599 ft,
s 1 1 ' 12) 35+3=11 2/3yds. 10) 2x22,X -4 _4uin
14) 7/2x16 = 56 oz. 13) 8x2=16pts. : 17X 71 1 7 :
14) 3/2x 4 =6 qs.
4 18 018 o7 L iy
15) 2512+112 2612 2712 mi. - 105—6§=92—6§=3§=3§ ons
16) 25: 5, 25; 45: 3, 5, 15, 45 158 20680500 &8 8 8 4 -
GCF=5 g =7,500 Ibs. %
1Z) yesi. 16) 3x3x7 S
61.3_61,8_61_,.1 17) 13/2x12 =78in. 7
18) EC S <1 VY 4> o
10 2 ™53 15 15 18) 7/8x 5,280 =4,620 ft. >
so 5 bags ; 4,620 + 3 = 1,540 yds. m
19) 9x9=81. 19) 23x23 =529 Ko
o = 20) 40 =

L




